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Year: 9 | Using Metric Units (B)
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Date:

LENGTH MASS CAPACITY

10 mm = 1cm 1000mg = 1g 1000mL = 11

100cm = 1m 1000g = 1kg

1000mMm = 1m 1000 kg = 1 tonne

1000m = 1km
Section A: Fill in the gap with the correct symbol | < |,| = |, or | > |. The first one is done for you.

1) 2)
o
6000 g < ‘ , ,
3) 4)
=— = o
[ (=)

41 410 ml

A

Section B: Fill in the gaps to make the sums correct.

1) 200cm + 500cm = cm 6) 70mm+ cm = 11cm
2) 4kg + g = 6 kg 7) m+ 1km = 1.5
3) 100ml + 900 ml = L 8) 8000mlL-3L = L
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